2)

Circular Measures 3 (Radians) Answers

7 (@) %429= 10, leading to

@ =1.25 rads
(ii)
AB=5
AC =4tanl.25, AC=12.038
C=—2% __4 BC=8685
cosl.25

Perimeter = 25.7, allow 25.8
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M1 for use of %rze

M1 for attempt to get AC

M1 for attempt to get BC

11E (i) Sectorangle=1.2x

OD =12

AD? =127 + 6% —2x12x6c0s0.87
AD=17.2

Uses s = 6x(1.27)=(7.27) (or 22.6)

Complete plan (AD +r8+6) or (17.2+7.27 + 6)

45.8

(i) AAOD:%x6xl2sin0.87r
212
Uses 4= %x 6% x(1.27)

21.6mror67.8 or 67.9
89.0 or 89
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10 (i) BC = 2(10sin0.4) = 7.79

(i) ZABC = %(11-0.8) = 1.17 rads
Arc CD = 7.79 x 1.17, Arc BC = 10x0.8

— P =sum of the arcs + BD (=7.79)
— P=249

(iii) Area sector BDC = 4(7.79)*x1.17
Area segment on BC =%2.10%0.8-sin0.8)

— Shaded area = 39.6 or 39.7
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Any correct method — cos rule ok.

Anywhere in the question.

Use of s=r@ in either arc.

Overall plan —arc CD + arc BC + BD
co.

Use of A=22r?6 for sector BDC
B1 for 0.5(10) 0.8

B1 for 0.5(10)"sin 0.8
Cco

& 4 wemaepen 8-




(i) AB=3 Bl
Correct use of trigonometry to APB = ZT” Bl
(i) s=r0 Mi
3.140r3.63 0or 7 or 2{;;” Al
6.77 Al
G) uses %rzo M
uses %r’ sin@ Mi
1.84 or 0.815 Al
Complete plan Mi
2.65 t0 2.66 Al
10
10 7_ 4 pa=43
() tan 6 pa T Bl B1 for PA (answer given)
PB = 4 +4,PB=12 Bl B1 for PB (answer given)
sin—
6
allow equivalent methods 2]
i) S = L2
(i) Sector area = 2 X 3 VBl \ B1 sector area, ft on their PB
Area of kite = 2xlx4\/§X4 M1, A1 | M1 for attempt to find area of kite or
2 appropriate triangle
Shaded area = 47.7 Al
(4]
T
(iii) P=(12x 5J+2(12_4‘/§)+2(4) B1, B1, | BI for each of the 3 terms
Bl
=30.7 B1 B1 for final answer
(4]




